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Time: 2 hrs.
N.B 1) Question No.1 is compulsory.
2) Attempt any 3 questions from the Q.No. 2 to Q. No. &
3) Draw neat diagrams wherever necessary
4) Figures to the right indicate full marks
Q.1 A) Define the following.
1)  Full Employment
2) Non-Performing Assets (NPAs)
B) Distinguish between
1) M,and M,
2) Liquidity and Profitability of banks -
C) Calculate the value of credit created from the following data
Primary deposits CRR
(Rs. in crores) %
1200 12%
1800 14%
2200 18%
Q2 A) ‘Investment is determined by Marginal Efficiency of Capital (MEC) and the rate of,
interest’ comment. ’
B) Examine the concept and working of the muitiplier
.3 A) Outline the Principle of effective demand.
B) Explain the keynesian consuniption function.
Q.4 A) Discuss briefly Demand-Pull and cost-push inflation.
B) What are the measures to control inflation in India?
Q5 A) Describe the velocity of circutation of money.
B) Outline the keynesian approach to demand for money
Q.6 A) Write notes (Any Two)

a) Phases of Business cycles.
b) The Principle of Acceleration.
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